Year 6: Week 2, Day 5
Short division in problems

Each day covers one maths topic. It should take you about 1 hour or just a little more.

1. Start by reading through the Learning Reminders. oo

Round decimals to the nearest whole, tenth and hundredth.

They come from our PowerPoint slides. , - —

2. Tackle the guestions on the Practice Sheet.  ——
There might be a choice of either Mild (easier)or { .=
Hot (harder)!
Check the answers.
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3. Finding it tricky? That’s OK... have a go with a
grown-up at A Bit Stuck?

0001s

4. Have | mastered the topic? A few questions to et theselue o e n e g nber

(a) 3.407
Check your understanding. o oo

(d) 5.104

Fold the page to hide the answers! o s

How many times must Dan multiply 0.048 by 10 to get 48,0007

What number is one hundred times smaller than 0.4?
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Learning Reminders

Short division in problems Find 143 = 8

Step 1 | - Step 3
How many 8s in 1? _— .1, and 6 left over.

None, so look at the next _— We write 1 in the

digit too.... " 10s column as we
1 7 7 are dividing the 10s,
r then 6 tens in front

\ of the 1s digit. /
Va Step 5
#,f’f 7 remainder 7
rd
r
Step 2
How many 8s in 14... J Step 4
How many 8s in 63? J
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Learning Reminders

Short division in problems
Find 1248 + 5

249r3
511248

.-"-'-'
.-'-"-' I

Step 1
How many 5sin 1? Step 3
None, so how How many
5s in 48?

many 5s in 127

[2 remainder 2] [9r3]

The exact answer is 2493/ |
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Learning Reminders

Short division in problems

1.

Sarah is taking free-range chicks to sell at the farmers’ market. She can put 12 chicks in

each cage. She has 160 chicks. How many cages does she need to take all the chicks?
Find160+12=13r4
= 13 full cages, with 4 chicks left over. So, she’ll need 14 cages to carry all the chicks.

She’s also taking eggs. She has 257. How many full boxes of six eggs can she take?
Find 257 +6=42r5
= 42 full boxes, with 5 eggs left over. So, she’ll be able to take 42 full boxes.

. A hotel chef needs 78 eggs to make desserts for this evening. How many boxes of 12 is

this?
Find78 +16=6r6
= 6 full boxes, with 6 eggs left over. So, this is 6 full boxes.

Six children are sharing a box of 20 fish fingers. How many can they have each?
Find20+6=3r2
= 3 fish fingers each with 2 left over. They could share these, to have 3%/, (3'/;) each.
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Practice Sheet Mild
Short division practice

Find the exact answer to each division, writing your answer as a decimal.

937 -+ 4 2. 754 +4 3. 342+:4

5. 631+5 6. 727+5 7. 364 +5
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Challenge
Arrange the digits 2, 3. 4 and 5 to give a division of this form:

OO+

The answer must include the fraction 3 or decimal part 0.5. Find at least two ways of doing this.

® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® ¥ @ V =H o
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Practice Sheet Mild
Division word problems

The cafe have 51 sausages left. If they need 4 sausages per portion, how many portions can they serve?

The cafe has served 70 slices of chocolate cake today. If each whole cake was cut into 6 slices, how
many cakes did they cut up?

Exactly how many weeks are in 31 days? Write a fraction as part of your answer.

80 are travelling to an athletics event. Each minibus will take 12 athletes. How many minibuses
are needed?
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There are 72 children in Upper KS2. There are 9 people in a rounders’ team. If all children wanted to play,
how many rounders teams could be made? How many reserves would there be?

Lucy is walking 62 miles over 4 days. If she walks the same distance each day, how far will she walk
each day?

A group of 5 friends go out for a celebration meal. The bill comes to £61. How much does the meal cost
per person?

® ¥ @ V =H o
® ¥ @€ V H o & ¥ & V H o & ¥ & VvV =E o

® VvV 1 o
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Practice Sheet Hot
Short division practice

Find the exact answer to each division, writing your answer as a decimal.

9237 + 4 2. 5754 +4

4. 8356 +5
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7. 4577 + 8 8. 9651+8

Arrange the digits 2, 3. 4 and 5 to give a division of this form:

U=

The answer must include the fraction 3 or decimal part 0.5. How many ways of doing this are there?

Can you be certain you have found them all?
S
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Practice Sheet Hot
Division word problems

The cafe have 195 sausages left. If they need 4 sausages per portion, how many portions
can they serve?

The cafe has served 85 slices of chocolate cake today. If each whole cake was cut into 6 slices, how
many cakes did they cut up?

Exactly how many weeks are in 365 days? Write a fraction as part of your answer.

160 are travelling to an athletics event. Each minibus will take 12 athletes. How many minibuses are
needed?
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There are 113 children in Upper KS2. There are 9 people in a rounders’ team. If all children wanted to
play, how many rounders teams could be made? How many reserves would there be?

Lucy is walking 186 miles over 8 days. If she walks the same distance each day, how far will she walk
each day?

A group of 5 friends go out for a celebration meal. The bill comes to £82. How much does the meal
cost per person?

® ¥ @ V =H o
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Practice Sheets Answers

Short division practice (mild)

® H A & «*

1. 937 +4=23425 2. 754 +4=1885 3. 342+4=855 4. 235+4=5875
5.631+5=1262 6.727+5=1454 7. 364+5=728 8 128+5=256

Challenge A\
J

There are are four possibilities 345 + 2, 435 + 2, 453 + 2,543 + 2.
None of the possibilities where 4 is the divisor give an answer with a remainder of 2.

Division word problems (mild)

51+4=12r3 They can serve 12 portions
70-6=11r4 They cut up 12 cakes

. 31+7=43 There are 4 2 weeks in 31 days

. 80+12=6r8 7 minibuses are needed
72+9=8 8 rounders’ teams could be made

There would be no reserves
. 62+4=151% Lucy will walk 153 miles each day
. £61+5=£1220 The meal costs £12.20 per person
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Short division practice (hot)

1. 9237 +4=2309.25 2. 5754 -+ 4=14385 3. 6235 +4=155875
4. 8356+5=16712 5. 7782 +5=15564 6. 3484 +5=06968
7. 4577 + 8 =572.125 8. 9651+8=1206375 9. 9734+8=121675

Chall )
allenge )

There are are four possibilities 345 + 2, 435 + 2,453 + 2,543 + 2.
None of the possibilities where 4 is the divisor give an answer with a remainder of 2.

® H A & x o

6 H V @& ¥ &

Division word problems (hot)

. 195+4=48r3 They can serve 48 portions

. 85+6=14rl They cut up 15 cakes
365 +7=521% There are 52 % weeks in 365 days
160+-12=13r4 14 minibuses are needed
113+9=12r5 12 rounders' teams could be made

There would be 5 reserves
. 186 +8=231% Lucy will walk 23 § miles each day
. £82+5=£1640 The meal costs £16.40 per person
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A Bit Stuck?
Chunky jumps

Work in pairs

Things you will need:
+ A pencil

What to do:
« Work out the answer to 10 x4, 20x 4,30 x 4,40 x 4 and 50 x 4.

+ Write the answers under these chunky jumps.

10x4 10x4 10x4 10x4

0 40

+ Now use what you have done to work out the answers to at least three of
these divisions:

57 + 4 129 + 4 95 + 41 144 - 4 1 173 + 4

®

| TN
« Work out the answer to 10 x 6, 20 x 6, 30 x 6, 40 x 6 and 50 x 6.

+ Write the answers under these chunky jumps.

10x 6 10x 6 10x 6

|
60

+ Now use what you have done to work out the answers to at least three of
these divisions:

129+6 97+6 190 + 6 252 + 46 160 + 6

S-t-r-e-t-c-h:
Use chunking to work out 134 + 5 and 213 + 5. What multiplication facts could you
list to help?

Learning outcomes:
+ | can use chunking to divide, using lists of multiples of 10 of the divisor to help.
+ | am beginning to write my own lists of multiples to help.
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A Bit Stuck?
Toffee apples

Work in pairs

Things you will need:
+ A pencil

What to do:

« Choose a word problem. Discuss it together. Work out the answer to the division.
Now answer the question in the word problem.

+ Repeat with a new problem.

+ How many can you work out before the end of the session?

1 bag = 6 apples 1 tray = 4 toffee apples

S-t-r-e-t-c-h:
Think of at least two numbers of apples more than 100 that Becky could sell in trays
of 4 where no apples would be left over.

Learning outcomes:
« | can use chunking to divide (answers less than 60).
+ | am beginning to decide whether to round up or down to answer a division word problem.
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A Bit Stuck?
Toffee apples

Becky has an order for
100 toffee apples.
How many bags of
apples does she need

E Becky has made 150
i toffee apples.

i How many trays does
E she need?

E Becky has made 130
1 toffee apples.

i How many trays does
i she need?

Becky has an order for
200 toffee apples.
How many bags of
apples does she need

Becky buys apples in bags of 6.
Becky packs toffee apples in trays of 4.

Becky has an order for ;
140 toffee apples. i
How many bags of ;

apples does she need

Becky has made 175 :
toffee apples. :
How many trays does

she need?

Becky has made 86 i
toffee apples. How E
many apples will she ]
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Becky has an order for i
135 toffee apples. i
How many spare :

apples will she have?



Check your understanding
Questions

Divide 3666 by 3, 4, 5, 6 and 8 and write exact answers with a fraction part as necessary.

Write a division of a 3-digit number by 6 where the answer contains the fraction /.

Write a similar division where the answer contains the fraction °/s.

A 452cm length of string is divided into 8 equal sections, how long will each section be?

Fold here to hide answers:

Check your understanding
Answers

Divide 3666 by 3, 4, 5, 6 and 8 and write exact answers with a fraction part as necessary.

3666 +3=1222

3666 + 4 =916/,

3666 + 5 =733/

3666 +6=611

3666 + 8 =458'/,

Can you predict which will have remainders (using knowledge of tests for divisibility) and what
those remainders may/may not be.

Write a division of a 3-digit number by 6 where the answer contains the fraction /e.
Various solutions to this... Use a calculator to check yours. Note that the number being divided will
be 1 more than any multiple of 6, e.g. 643 will definitely give a remainder of 1 (and the fraction /).

Write a similar division where the answer contains the fraction °/s.
Various solutions to this... Use a calculator to check yours. This time the number will be 1 less than
a multiple of 6, e.g. 671.

A 452cm length of string is divided into 8 equal sections, how long will each section be? 56.5cm
Did you remember to convert your answer of 56r4 / 56%/s/ 56/, into cm?
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